1 ‘ 2 3 4 5 6
N fhse A= —x— 1)
mERmes As/L0ADCELL TYPE U3B1-+-B 2.0. (Rated Ouiput) EREAETT.
4% /SPECIFICATIONS R.C.(Rated Capacity) THBSEETT.
£ 5 ICTHEAOHmERTSREQUET,
@ S = /LOADING SPECIFICATIONS R N 7 v
v : <1961 N { 20 kaf 1. 490.3 N { 50 kaf ] The polarity of an output Is added
EBEE/Rated Capacity(R.C.) : . gr 1t . gr J, v the comoression direction load.

980.7 N { 100 kgf 3, 1.9617 kN { 200 kgf 1, %&73 é% Edﬁ@ﬁﬁfr?[ CRIZBICLET .

4,903 kN ( 500 kgf }, 9.807 kN { 1 tf ) 2-E RA ) A .
sEmaE/Safe Overload . 150 7R.C. W?e” CmQQ L9, pomg ty, wiring tas green as blue)
R5®&%/Ult inate Over load : 200 YR.C. OT An BUTPUT 15 nace Foverse.

4 71/Rated Output (R.0.) : +3.0 mV/V=0.015 mV/VIER/Compression) ‘
-3.0 mV/V=0.015 mV/V(5I5&/TensTon) w
SEE® I /Non- | inear ity 0.05 /R.0. | é‘
EXx 7 U /Hysterestis 0.05 ZR.0. i
#Ui L1 /Repeatabl Lty 0.03 %R.0.
B /ELECTRICAL SPECIFICATIONS = *% ****** ] - Tr—
HREPIEE/Recommended Excitation : 10V oor less |
RAEPIIEE/Maxinum Excitation 215V !
/35> 2/Zero Balance : 20.03 mV/V | ‘=|
NI/ Input terminal Resistance : 350 Q3.5 Q i
B 7737/ Output terminal Resistance : 350 Q45 Q
SREBIETI(T U T-ARR) : 2000 MQ I E(DCS0 V)
/Insulat ton Resistance(bridge-body) 2000 M@ or more(DC50 V) F A G H C H
® 2 E R/ TEMPERATURE PERFORMANCE
RE A EEE -10 €T to 70 C
/Compensated temperature range ‘
ﬁFD/Dﬂ}_‘;%E . 720 OC J[O 80 QC 1 . T -
/Safe temperature range I ! I ) X X
ER0BELE : 0.05 %R.0./10 € = H | ”
/Temperature effect on zero balance I
B ADREHE : 0.1 ZL0AD/10 T | —= —
/Temperature effect on output i
® z 0 ft/0THERS AG T)i
r—J/Cable D $0.3 4T —IL BT 3nERE SeimY ELES i T 1T g |

$6.3 4ecore shield 3 m = 7**%*7*7*7* 77777777777777 ‘F**** .

Cable end s connected Y terminals NAME ‘PLATE ) ® ®
Rs&Z K /Class of protection : [P64 1 H
REXOME/Material : 7z ZossEE/AMuninium al loy (20K~200K) - ;

: &&#/Alloy steel(500K~1T) ‘

TELE/Finish : IR+ BEEE F/Epoxy resin paint Black \
(&4558/Body) ® i ® ([ ])

: Ruovy g ®/Polyurethane paint Yel low ;

(H/\—8f/Cover) |
fEH&ES/Fatlgue Life ; EB5ET10° B/10° tines with rated load
RoHS : @8 /Compliant i

®FCHREI/CIRCUIT DIAGRAM
-
—— AR/ Input (+) :Red <IMeiET/0ut Line> Ba/UNIT :
T Output (-):Blue W=/ Type THEEE/R.C. AlBIC|D E FI1G|H]T|2J | K |zrzue @ijﬁ%ﬁwzj EHE&(g)
| Displacement | frequency Weight
o APEE / Input)dinite U3B1-20K-B_|196.1 N2 kgty | 56 [ 60 | 20 | 30 M6X1 Depthl3 18] 216 [58]11.5/13] 0.18 | 600 330
U wA(+) 148 / Output (+) 1Green U3B1-50K-B [490.3 ntso kgfy | 56 | 60 | 20 | 30 MBX1 Depth?2 18126 [58[11.5112] 0.16 | 1100 |330
L >—LR:#/ Shield:Yellow U3BT-100K-B |980.7 Nt100 kgfy | 96 | 70 | 20 | 35 MEX1 Depthl8 181 2 6 |5811.5]18] 0.14 | 1600 |330
| U3B1-200K-B|1.961 knt200 kgf)| 56 | 70 | 20 | 35 M12X1.75 Depth17 [ 1681 2 | 6 |58 [11.5117] 0.12 | 2100 |330
<HHE&/Accessories>> U3B1-500K-B |4.903 kits500 kgf3| 56 | 70 [ 20 | 35 M12X1.75 Depth17 18] 2 | 6 [58[11.5/17] 0.14 | 2600 |630
SE /\35 = o o ] 1 N g e ep ° e
iRz Lol tbrotion Lertificote UBT-1T-B_ |9.607 w1 1| 56| 70| 20 | 35 M12X1.75 Depthi6 | 18] 2 | 6 |58 |11.5] 16| 0.12 | 3000 |630
*,\7*&*,&# e UNIT | MEMATERTAL B DATE  2016.04.14
Minebea Co., ot B dgof DESCRIPTION
REF SNE I =mmEe o R0
tuy,/a‘fn»rzg%%“ﬁ e ’ ' , N
2016/04/14 | KN16-0188 S.UCHI F.IDE Sensing Device Business Unit : — | _DIMENSION L | TOL - OUTL 1 N‘E/gl\ %ﬁi ,fjt *$
2012/03/19] KN12-0090 S.UCHL  |F.IDE [APPROVED] CHECKED | DRANN | MR o0 s] "o FEAT TREAT. AT MODEL NAME FESHEET
- |1983/08/18] NEW S.TOHYAMA  |H.OTSUKA « D&Qa@ & |8 b=z [+0.3] - UsBl-»-B /
we | B | mE®E a2 a2 N S® | | 63<=250 | £0.5 [ &BAE FINISH & DRAWING NO. 2ET REV.
/ECN NO. & ‘ S 250<L.=1000 | +0.8
MARK | DATE REASON ENGINEER APPROVED M\ o 0™ &= oeg | 205 - K102767-2 B

OLD-TOL:A3-2016



